Three students have a
total of 15 pens.

Each student has an odd
number of pens.

No two students have the
same number of pens.

How many does each
student have? Is there
more than one solution?

Three students have a total of 17 pens.

Each student has an odd number of pens.

No two students have the same number of pens

Assuming they each have more than 1 pen, how

many does each student have?

Is there more than one solution?
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Four students have 22 pens.
Each student has an odd number of pens.

No two students have the same number of Z

How many pens does each student have? 7

* what if they all had more than one pen? *
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